Wednesday 25th- Maths powerpoint.notebook November 19, 2020

1is smaller than 6.
How can I subtract 6
ones from 1 one?

How can Hannah subtract to
find the answer?

How- can the 6 ones can he subtrocted?
What do we have to do?
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First the ones

Subtract 26 from 831.

Stepl Regroup 1 ten into 10 ones.
Subtract the ones.
11 ones — 6 ones = 5 ones
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Then the tens

Step 2  Subtract the tens.
2tens — 2tens =0 tens
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Then the hundreds

Step 3

Subtract the hundreds.

Wiyl

November 19, 2020

831 - 26 =805
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.I 483 - 147 =

Hundreds| Tens Ones

Lets Lay it out in column subtraction too:
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562 - 338 =
1

Hundreds| Tens Ones

Lets Lay it out in column subtroction too:
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894 - 666=
1

Hundreds| Tens Ones

Lets Lo,y it out in column subtraction too
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Guided practice - can you give these a go
Use dienes or lo,La,ce value counters.

426 - 117 = 325-117 =
845 - 228 = 641 -119 =
692 - 155 = 788 - 339 =

Make sure you are shcrwmg where you

have renamed.
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Choose which ones you want to do:

Bronze: Silver:
156 - Q = 162 - 24 =
5L6 - 8 = 564 - 28 =
75l -7 = L53 - 14 =
362 -7 = 685 - L6 =
Q8L - 8 = /56 - 27 =
237 - Q = 8Ll - 18 =
L6 - 5 = /53 - 19 =
L56 - 8= 364 - 39 =
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